Gentile Academy - Transcript

Name: Katie GentileGentile AcademyAddress: 2501 Grasslyn Ave234 Elm StreetDOB: 1/7/1962SSN: 111-22-3333Orlando, FL 32808School Entrance Date:September 1967407-555-5555

9 ** 2005-2006

Subject	S1	S2	YR		CU	GPA
Language Arts					_	
English 9		B+ 87.	.50 B+	87.50	1.00	3.50
Grammar 8		A 96.	.25 A	96.25	0.00	4.00
Total					1.00	3.75
Life Skills						
Life Skills		A 94.	.00 A	94.00	0.00	4.00
Total					0.00	4.00
Math						
Math		B- 79.	.00 B-	79.00	0.00	2.75
Saxon 6/5		A- 90.	.56 A-	90.56	1.00	3.75
Total					1.00	3.25

10 ** 2006-2007

Subject	S1	S2	YR	CU	GPA
Art Sculptures		A 91.50	A 91.50	0.25	4.00
Total		7. 0.1.00		0.25	4.00
Language Arts British Literature Total	A 96.67		A 96.67	1.00 1.00	4.00 4.00
Math Pre-Algebra Total	A+ 140.0		A+ 140.0	1.00 1.00	4.00 4.00

11 ** 2007-2008

Subject	S1		S2	YR		CU	GPA
Art	-				-		
Art History	B+	88.13		B+	88.13	0.50	3.50
Sculptures	В	85.89		В	85.89	0.25	3.00
Total						0.75	3.25
Foreign Language							
Unit Study	Α	90.00		Α	90.00	0.50	4.00
Total						0.50	4.00
Language Arts							
British Literature	В	85.42		В	85.42	1.00	3.00
Composition	В	87.43	B+ 89.29	B+	88.36	0.25	3.50
Language Arts	В	80.00		В	80.00	0.00	3.00
Total						1.25	3.17
Life Skills							
Cooking	B+	88.00		B+	88.00	0.00	3.50
Life Skills	A-	92.36		A-	92.36	0.00	3.75
Total						0.00	3.63

Gentile Academy Date Printed: 4/1/2009 8:41 PM

Gentile Academy - Transcript

Name: Katie Gentile DOB: 1/7/1962 SSN: 111-22-3333

11 ** 2007-2008 (continued)

Subject	S1		S2		YR		CU	GPA
Math	-		-		-			
Algebra I			В	85.50	В	85.50	0.00	3.00
Math	A-	92.52			A-	92.52	0.00	3.75
Saxon 6/5	Α	97.00			Α	97.00	1.00	4.00
Total							1.00	3.58
Music								
Music Appreciation	A+	98.33			A+	98.33	0.00	4.00
Total							0.00	4.00
Science								
Biology	В	82.00			В	82.00	1.00	3.00
Chemistry			В	82.52	В	82.52	1.00	3.00
Earth/Space			В	80.00	В	80.00	2.00	3.00
Zoology	A+	100.0			A+	100.0	0.50	4.00
Total							4.50	3.25

12 ** 2008-2009

Subject	S1		S2		YR		CU	GPA
Art								
Art	B+	87.50	A+	98.57	A-	93.04	0.00	3.75
Total							0.00	3.75
History								
America - 1700-1850			Α	94.74	Α	94.74	0.00	4.00
World Geography			B+	89.17	B+	89.17	0.25	3.50
Total							0.25	3.75
Language Arts								
English 9	A-	92.50			A-	92.50	1.00	3.75
Speech and Debate	В	85.71			В	85.71	0.25	3.00
Total							1.25	3.38
Math								
Saxon 6/5	A-	92.00	B+	87.98	B+	89.99	1.00	3.50
Saxon 76	В	83.48			В	83.48	0.00	3.00
Total							1.00	3.25
Science								
Biology	В	81.25	С	75.00	C+	78.13	1.00	2.50
Chemistry	A-	90.05	A-	91.67	A-	90.86	1.00	3.75
Total							2.00	3.13

Gentile Academy Date Printed: 4/1/2009 8:41 PM

Gentile Academ	y - Transcript
----------------	----------------

Name: Katie Gentile DO	B : 1/7/1962	SSN	: 111-22-3333			
Credits Earned		9	10	11	12	Total
Art			0.25	0.75		1.00
Foreign Language				0.50		0.50
History					0.25	0.25
Language Arts		1.00	1.00	1.25	1.25	4.50
Life Skills						
Math		1.00	1.00	1.00	1.00	4.00
Music						
Science				4.50	2.00	6.50
TOTAL		2.00	2.25	8.00	4.50	16.75
GPA		9	10	11	12	Final
Cumulative		3.60	4.00	3.44	3.42	3.51

Schools Attended

From	То	Name	Address
Sep, 1967		Oakmont Elementary	Eagle Road Havertown, PA 19083

1st through 4th grades

Activities, Awards, Achievements, Volunteer Work, etc.

From	То	Hours	Name/Notes
May 10, 1979	May 12, 1979		Show Orchestra, School Musical "Hello Dolly" - violin
May 05, 1978	May 07, 1978		Show Orchestra, School Musical "The King and I" - Violin
Sep 12, 1976	Jun 13, 1979		Girls Service League - Lower Merion High School
Jun 11, 1976			Award - O.E.Spurgeon English Service Award Awarded for service to the Instrumental Music department
Jun 11, 1976			Award - Vocal Music Performance Awarded based on competition among vocalists from the 9th grade Choraliers group.
Apr 26, 1976			Show Orchestra, School Musical "Oliver" - Violin
Nov 12, 1974		12:50	Schuylkill Valley Area Orchestra Played 2nd Violin. Recommended by orchestra director. The Schuylkill Valley Area Orchestra is a youth orchestra made up of musicians from middle schools throughout the a

Standardized Testing Information

Test	Date	Score	Percentile	Location
SAT	Nov 1978	1190		Lower Merion Senior High
SAT Reas	oning Test			

SAT test results include separate scores for critical reading, math, and writing. In order to understand your test result, let's look at how the test is

		Gentile Academy - Transcript	
Name: Katie Gentile	DOB : 1/7/1962	SSN : 111-22-3333	
Standardized Testing	Information		
Test Date	Score	Percentile	
scores will be given for th by two readers on a 1-6 s section counts for approxi 800 writing section score. SAT Subject Tests The raw scores for SAT S Each correct answer: (+) Each incorrect answer for Each incorrect answer for Each omitted question: 0 Like the Reasoning Test, from 20 to 80. Percentiles Percentiles compare your	I point a multiple-choice questi a student-produced responts ed to a scaled score by e writing section: a multicale, and then those two mately 70% and the ess ubject Tests are calcula I point a 5-choice question: (-) a 4-choice question: (-) points these scores are convertible.	a statistical process called equating. The scaled score can range from 200 to 800. Two sub- ple-choice sub-score (20-80 scale) and an essay sub-score (2-12 scale). Your essay is score scores are combined to produce your score on the 2-12 scale. The multiple choice writing ay counts for approximately 30% of your total raw score, which is used to calculate your 200 ed as:	ed O-to- ale
PSAT	1100	Lower Merion Senior High	
I hereby certify that the infor Signature:	mation herein is comple	e and accurate.	
Printed Name:		Date:	

Gentile Academy Date Printed: 4/1/2009 8:41 PM Page 4

Notarized/Witnessed by ______ this _____ day of _____ 20 ____ (seal here)